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M1 for a correct first step which results in a value that could be in the
table: ie. 66 — 10— 20 (= 36) or 66 — 43 (= 23) or 10— 4 (= 6)

MI for correct method to find a second value that could be in the table
using their first value eg “23” —4 - 10 (= 9) or 367 - 10 (= 26)

M1 for a fully correct and complete method.

Al cao
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MI for total Sat bottles 100 — 46 (=54) or for total ! pint bottles 100 —
2230 (=48) or (total 2 pint bottles on Sat) 22 15 (=7)

MI for total Sun bottles of ¥ pint *48” — 31 (=17) or for total Sat
bottles of 1 pint: “54” 31— (22-15) (=16)

MI for 46— 15— 17" or for 30 - *16”

Al cao

NB: any of the above figures could be shown in a 2-way table





image9.png
o

e

‘s:

MI for a correct first step which results in a valuc that could be in the
table: eg. 50— 18— 8 (= 24) or 50— 21 (=29) or 8 — 6 (= 2)

MI for a correct method to find a second value that could be in the table
using their first value eg 29" ~ 9 — 6 (=14) or “24” 9 (=15)

MI for a fully correct and complete method.

Al cao
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M1 for 16 correct combinations shown
or for 4 4 [combinations]
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Starter and main 8 x 12

Main and dessert 12 x 6
Three courses 8 x 12 x 6
96+ 72+ 576 =744

1013
140212
1A022

M1 for one correct product
M1 for summing their three products.
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for method to find the number of 3 digit combinations, eg 5” or 5°
for 125 or 124,

for method to find the number of combinations with 3 different digits
g 5% 4 % 3 or finds there are 65 combinations that do not have 3
different digits
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Process to find number of rose trees e.2. 215 +17 (=12.647..) or show number of
choices with 12 and 13 cg 17  12=204 and 17 x 13 =221

No with interpretation that 12.6.. is not a whole number or a whole number of plants
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possible
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